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As 1C50 1
mg/L
(DA) Cy,H,,ASCI 0.801 200
(DC) CysHpASN 0.567 280
(DPAA) C,,H,,As0, 157 1
(PAA) CgH,ASO, >201 <0.78
(PAO) CeH:ASO 0.0557 2800
( ) (BDPAO) CpuHeAS,0 0.707 220
(PMAA) C,HoASO, 25.2 6.2
(TPA) CyeHcAs 200 0.78
(TPAO) CeHsASO 460 0.34
As,0, 1.64 96
NaAsO, 1.68 93
) As,0, 26.9 5.8
CazAs,0 >42.2 <3.7
( ) Na,HASO, 7H,0 83.6 1.9
(MMA) CHSASO, 886 0.18
(DMAA) C,H,AsO, 151 1.0
(AsBe) C:H,,As0, 2
p- CoHzASNO, 1410 0.11

1) DPAA  1C50 1
2) 20
3)

NOEL

DPAA  PAA  PMAA

1C50
28

0.3mg/kg/day 5.0mg/kg/day 1.2mg/kg/day
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